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7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 748 95.62 | =nWS | 000 ~ 748 1.94 9.80 st 1.00 | 6.00 ~ 1138 95.62 | ThS | 5,00 ~ 11.38| 1.94 9.80
2 100kN/m%#8z5 | 1.00 | 000 ~ 028 10416 |3mx#8z3| — ~ — — — | 100kN/ %8825 | 1.00 | 10.74 ~ 11.56| 10416 |3m%E#Z5 - ~ — — —
s 1.00 | 028 ~ 807 100.00 | #nst | 0.00 ~ 807 | 2.09 10.67 st 1.00 | 6.00 ~ 1074 100.00 | =nst | 6.00 ~ 1156 2.09 10.67
3 100kN/m##8x5 | 1.00 | 0.00 ~ 061 109.13 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 10565 ~ 1227| 10913 |3m%E#Z25 - ~ — — —
s 1.00 | 0.61 ~ 840 100.00 | #nlst | 0.00 ~ 840 | 2.22 11.21 st 1.00 | 6.00 ~ 1055 100.00 | =nst | 6.00 ~ 1227| 2.22 11.21
4 100kN/ Mz 25| 1.00 | 000 ~ 097 114.57 |3mx#z23| — ~ — — — | 100kN/ %8825 | 1.00 | 1069 ~ 1385| 11457 |3mE#Z5 - ~ — — —
s 1.00 | 097 ~ 876 100.00 | #nst | 000 ~ 876 | 2.10 10.63 st 1.00 | 6.00 ~ 1069 100.00 | =nst | 6.00 ~ 1385| 2.10 10.63
5 100kN/m%E#8Z5| 1.00 | 000 ~ 165 12518 |3m&EEBZD| — ~ — — — | 100kN/m%#82% | 1.00 | 10.55 ~ 16.41 125.18 |3m%Ei#BZ D - ~ — — —
s 1.00 | 1.65 ~ 943 100.00 | =nst | 0.00 ~ 9.43 | 2.54 11.82 st 1.00 | 6.00 ~ 1055 100.00 | =nLst | 6.00 ~ 1641| 2.54 11.82
P 100kN/m%E#8z5 | 1.00 | 000 ~ 1.45| 12206 |3mx#8z3| — ~ — — — | 100kN/ %8825 | 1.00 | 11.07 ~ 17.09| 12206 |3m%E#Z25 - ~ — — —
s 1.00 | 1.45 ~ 9.24 100.00 | #nlst | 0.00 ~ 9.24 | 2.22 11.20 st 1.00 | 6.00 ~ 1107 100.00 | =nst | 6.00 ~ 1709)| 2.22 11.20
- 100kN/m%E#8z5| 1.00 | 000 ~ 1.73| 126563 |3mx#8z3| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1053 ~ 1660 126.53 |3mEBZ5 - ~ — — —
s 1.00 | 1.73 ~ 952 100.00 | #nlst | 0.00 ~ 9.52| 2.38 12.03 st 1.00 | 6.00 ~ 1053 100.00 | =nst | 5.00 ~ 1660 2.38 12.03
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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